

ON WEIGHTED r -GENERALIZED FIBONACCI SEQUENCES

François Dubeau

Département de Mathématiques et d'Informatique, Faculté des Sciences,
Université de Sherbrooke, Sherbrooke (Québec), Canada, J1K 2R1
francois.dubeau@dmi.usherb.ca

Walter Motta

Departamento de Matemática, CETEC-UFU,
Campus Santa Mônica, 38400-902 Uberlândia, MG, Brazil
wmotta@ufu.br

Mustapha Rachidi

Département de Mathématiques, Faculté des Sciences,
Université Mohammed V, B.P. 1014, Rabat, Morocco
rachidi@emi.ma

Osamu Saeki

Department of Mathematics, Faculty of Science,
Hiroshima University, Higashi-Hiroshima 739, Japan
saeki@top2.math.sci.hiroshima-u.ac.jp

(Submitted August 1994)

1. INTRODUCTION

The standard Fibonacci numbers have several well-known and familiar properties, among which are the fact that the ratio of successive terms approaches a fixed limit ϕ , and that the n^{th} Fibonacci number is asymptotic to ϕ^n . In this paper we extend these properties to a generalized class of Fibonacci sequences, giving necessary and sufficient conditions for such a sequence to be asymptotic to one of the form $n^{\nu-1}\lambda^n$. In that case, we show how to compute the limiting ratio between the solution and $n^{\nu-1}\lambda^n$, as well as proving that the ratio of successive terms of a solution must have λ as a limit.

The necessary and sufficient conditions mentioned above are stated in terms of the roots of a polynomial. Indeed, this polynomial is the characteristic polynomial associated with the difference equation defining a generalized Fibonacci sequence. We also discuss conditions that depend directly on the coefficients of the characteristic polynomial. As a special case, we derive results when the polynomial has negative real coefficients (except for the leading coefficient 1). More generally, we give a sufficient condition on the coefficients for the roots to satisfy the necessary and sufficient conditions discussed above.

2. PRELIMINARIES

Let a_1, a_2, \dots, a_r be arbitrary $r \geq 2$ complex numbers with $a_r \neq 0$, and let $A = (\alpha_{-r+1}, \alpha_{-r+2}, \dots, \alpha_{-1}, \alpha_0)$ be any given sequence of complex numbers. The *weighted r -generalized Fibonacci sequence* $\{y_A(n)\}_{n=-r+1}^{+\infty}$ is the sequence generated by the difference equation with initial values:

$$\begin{cases} y_A(n) = \alpha_n, & n = -r+1, -r+2, \dots, -1, 0; \\ y_A(n) = \sum_{i=1}^r \alpha_i y_A(n-i), & n = 1, 2, 3, \dots \end{cases} \quad (1)$$

As a special case, when $\alpha_i = 1$ for all i (the unweighted case), $\alpha_0 = 1$, and $\alpha_i = 0$ for $i = -r+1, \dots, -1$, (1) generates the r -generalized Fibonacci numbers introduced by Miles [8]. Explicit representations for these numbers can be found in [3], [5], and [6].

The polynomial $p(x) = x^r - \alpha_1 x^{r-1} - \dots - \alpha_{r-1} x - \alpha_r$ is called the *characteristic polynomial* associated to (1), and any solution λ of the *characteristic equation* $p(x) = 0$ is called a *characteristic root* for (1).

The first result, whose proof can be found in Kelley and Peterson [7], for example (or also in Jeske [4] or Ostrowski [9, §12]), relates the general solution of (1) to its characteristic roots.

Theorem 1: Suppose (1) has characteristic roots $\lambda_1, \lambda_2, \dots, \lambda_k$ with multiplicities m_1, m_2, \dots, m_k , respectively ($m_1 + m_2 + \dots + m_k = r$). Then (1) has r independent solutions $n^j \lambda_\ell^n$ ($j = 0, \dots, m_\ell - 1$; $\ell = 1, \dots, k$). Moreover, any solution of (1) is of the form

$$y_A(n) = \sum_{\ell=1}^k \sum_{j=0}^{m_\ell-1} \beta_{\ell,j} n^j \lambda_\ell^n, \quad (2)$$

where the $\beta_{\ell,j}$ are determined by the initial condition $A = (\alpha_{-r+1}, \alpha_{-r+2}, \dots, \alpha_{-1}, \alpha_0)$. \square

Remark 2: Any independent solution $n^j \lambda_\ell^n$ ($j = 0, \dots, m_\ell - 1$; $\ell = 1, \dots, k$) can be generated from the initial conditions $\alpha_i = i^j \lambda_\ell^i$ for $i = -r+1, \dots, -1$ and $\alpha_0 = 1$. \square

3. THE MAIN RESULTS

The necessary and sufficient conditions we consider are given in terms of the roots of the characteristic polynomial associated to (1). To simplify, we introduce the following terminology.

The polynomial $p(x)$ is called *asymptotically simple* if, among its roots of maximal modulus, there is a unique root λ of maximal multiplicity ν . Then λ is called the *dominant root* of $p(x)$ and ν is called the *dominant multiplicity*. Also, the system (1) is *asymptotically simple with dominant root λ and dominant multiplicity ν* if its characteristic polynomial is.

Theorem 3: System (1) is asymptotically simple with dominant root λ and dominant multiplicity ν if and only if, for any initial condition A , the sequence

$$\left\{ \frac{y_A(n)}{n^{\nu-1} \lambda^n} \right\}_{n=1}^{+\infty}$$

converges to a limit L_A , with L_A not equal to 0 for at least one A .

Proof: To prove the *if* part, we observe from (2) and Remark 2 that the convergence for all A implies the convergence of the sequence

$$\left\{ \frac{n^j}{n^{\nu-1}} \left(\frac{\lambda_\ell}{\lambda} \right)^n \right\}_{n=1}^{+\infty} \quad (3)$$

for any $\ell = 1, \dots, k$ and $j = 0, \dots, m_\ell - 1$. But, for each ℓ , the convergence of the sequence (3) for $j = 0, \dots, m_\ell - 1$ implies that $|\lambda_\ell| < |\lambda|$ or $|\lambda_\ell| = |\lambda|$ and $\nu > m_\ell$ for $\lambda_\ell \neq \lambda$ or $\nu \geq m_\ell$ for $\lambda_\ell = \lambda$. Moreover, all the limits are zero except for $j = m_\ell - 1$ when $\lambda_\ell = \lambda$ and $\nu = m_\ell$. Also, the convergence to a nonzero limit L_A for some A implies that at least one sequence (3) has a nonzero limit. Hence, λ must be the dominant root and ν the dominant multiplicity. The *only if* part follows directly from Theorem 1. \square

The next step is to relate $y_A(n)$ for arbitrary A to $y_0(n)$, the solution of (1) obtained for the initial conditions $\alpha_i = 0$, for $i = -r + 1, \dots, -1$, and $\alpha_0 = 1$. The matrix approach allows us to obtain the desired relation.

Let T be the (r, r) -matrix defined by

$$T = \begin{bmatrix} \alpha_1 & \alpha_2 & \cdots & \cdots & \alpha_r \\ 1 & 0 & \cdots & \cdots & 0 \\ 0 & \ddots & \ddots & & \vdots \\ \vdots & \ddots & \ddots & \ddots & 0 \\ 0 & \cdots & 0 & 1 & 0 \end{bmatrix},$$

and $Y_A(n)$ be the $(r, 1)$ -matrix defined by

$$Y_A(n) = \begin{bmatrix} y_A(n) \\ y_A(n-1) \\ \vdots \\ y_A(n-r+1) \end{bmatrix}, \quad n = 0, 1, 2, \dots$$

Hence, $Y_A(0) = A$ [if we consider A as an $(r, 1)$ -matrix]. Therefore, we have $Y_A(n+1) = TY_A(n)$ and $Y_A(n) = T^n A$.

Let us also define the $(r, 1)$ -matrices Y_i ($i = 0, 1, \dots$) by

$$Y_i = \begin{bmatrix} 0 \\ \vdots \\ 0 \\ 1 \\ 0 \\ \vdots \\ 0 \end{bmatrix} \leftarrow (i+1)^{\text{th}} \text{ entry}, \quad i = 0, 1, \dots, r-1,$$

and $Y_i = 0$ for $i = r, r+1, \dots$. Let $Y_i(n) = T^n Y_i$ for $n = 0, 1, 2, \dots$. Hence $TY_i(n) = Y_i(n+1)$, and also

$$Y_i(n) = \begin{bmatrix} y_i(n) \\ y_i(n-1) \\ \vdots \\ y_i(n-r+1) \end{bmatrix},$$

where $\{y_i(n)\}_{n=-r+1}^{+\infty}$ is the solution of (1) with the initial condition $A = Y_i$ ($\alpha_{-j} = 1$ if $j = i$ and $\alpha_{-j} = 0$ if $j \neq i$ for $j = 0, 1, \dots, r-1$).

Since $A = \sum_{i=0}^{r-1} \alpha_{-i} Y_i$, it follows that

$$Y_A(n) = \sum_{i=0}^{r-1} \alpha_{-i} Y_i(n). \tag{4}$$

From these definitions and notation, we have the following direct result.

Lemma 4: Let $\alpha_i = 0$ for $i = r + 1, r + 2, \dots$, then we have:

(a) $TY_i = \alpha_{i+1}Y_0 + Y_{i+1}$;

(b) for $i \geq 0$,

$$Y_i(n) = \sum_{j=1}^n \alpha_{i+j} Y_0(n-j) + Y_{i+n}, \quad n = 0, 1, 2, \dots;$$

(c) for any A ,

$$Y_A(n) = \alpha_0 Y_0(n) + \begin{cases} \sum_{i=1}^{r-1} \alpha_{-i} \sum_{j=1}^n \alpha_{i+j} Y_0(n-j) + \sum_{i=1}^{r-1-n} \alpha_{-i} Y_{i+n}, & 0 \leq n < r-1, \\ \sum_{i=1}^{r-1} \alpha_{-i} \sum_{j=1}^{r-i} \alpha_{i+j} Y_0(n-j), & n \geq r-1; \end{cases} \tag{5}$$

(d) for $n \geq 0$, we have

$$y_A(n) = \alpha_0 y_0(n) + \sum_{i=1}^{r-1} \alpha_{-i} \sum_{j=1}^{r-i} \alpha_{i+j} y_0(n-j). \tag{6}$$

Proof: (a) is a direct consequence of the definitions and notation. (b) is easily obtained by induction. (c) follows by substitution of (b) into (4). We obtain (d) by considering the first entry in (5). \square

The identity (6) leads to the next result.

Theorem 5: Let λ be any nonzero complex number and ν be a positive integer.

(a) The sequence

$$\left\{ \frac{y_A(n)}{n^{\nu-1} \lambda^n} \right\}_{n=1}^{+\infty}$$

converges for any A (with limit L_A) if and only if the sequence

$$\left\{ \frac{y_0(n)}{n^{\nu-1} \lambda^n} \right\}_{n=1}^{+\infty}$$

converges (with limit L_0). Moreover, the limits are related by the formula

$$L_A = \left[\alpha_0 + \sum_{i=1}^{r-1} \alpha_{-i} \lambda^i \sum_{j=i}^{r-1} \frac{\alpha_{1+j}}{\lambda^{1+j}} \right] L_0. \tag{7}$$

(b) Moreover, in (a), $L_A \neq 0$ for some A if and only if $L_0 \neq 0$. In that case,

$$L_0 = \left[\delta_{\nu 1} + (-1)^{\nu-1} \sum_{j=1}^{r-1} \frac{\alpha_{1+j}}{\lambda^{1+j}} \sum_{i=1}^j i^{\nu-1} \right]^{-1}. \tag{8}$$

Proof: (a) From (6), we have

$$\frac{y_A(n)}{n^{\nu-1}\lambda^n} = \alpha_0 \frac{y_0(n)}{n^{\nu-1}\lambda^n} + \sum_{i=1}^{r-1} \alpha_{-i} \sum_{j=i}^{r-1} \frac{a_{i+j}}{\lambda^j} \left(\frac{n-j}{n}\right)^{\nu-1} \frac{y_0(n-j)}{(n-j)^{\nu-1}\lambda^{n-j}},$$

and (7) follows. For (b), (1) must be asymptotically simple with dominant root λ and dominant multiplicity ν . Then, for $\alpha_0 = \delta_{\nu 1}$, $\alpha_{-i} = (-i)^{\nu-1}\lambda^{-i}$ ($i = 1, \dots, r-1$), we have $y_A(n) = n^{\nu-1}\lambda^n$ and $L_A = 1$ in (a). it follows that

$$L_0 = \left[\delta_{\nu 1} + (-1)^{\nu-1} \sum_{i=1}^{r-1} i^{\nu-1} \sum_{j=i}^{r-1} \frac{a_{1+j}}{\lambda^{1+j}} \right]^{-1},$$

and we get (8). \square

Immediate consequences of these results are the next two theorems.

Theorem 6 (Ratio of weighted r -generalized Fibonacci sequences): Assume (1) asymptotically simple with dominant root λ and dominant multiplicity ν . If $A = (\alpha_{-r+1}, \alpha_{-r+2}, \dots, \alpha_{-1}, \alpha_0)$ and $B = (\beta_{-r+1}, \beta_{-r+2}, \dots, \beta_{-1}, \beta_0)$ are sequences of r complex numbers such that $L_B \neq 0$, then

$$\lim_{n \rightarrow +\infty} \frac{y_A(n)}{y_B(n)} = \frac{L_A}{L_B} = \frac{\alpha_0 + \sum_{i=1}^{r-1} \alpha_{-i} \lambda^i \sum_{j=i}^{r-1} \frac{a_{1+j}}{\lambda^{1+j}}}{\beta_0 + \sum_{i=1}^{r-1} \beta_{-i} \lambda^i \sum_{j=i}^{r-1} \frac{a_{1+j}}{\lambda^{1+j}}}. \quad \square$$

Theorem 7 (Ratio of consecutive terms): Assume (1) asymptotically simple with dominant root λ and dominant multiplicity ν . If $A = (\alpha_{-r+1}, \alpha_{-r+2}, \dots, \alpha_{-1}, \alpha_0)$ is such that $L_A \neq 0$, then

$$\lim_{n \rightarrow +\infty} \frac{y_A(n+1)}{y_A(n)} = \lambda. \quad \square$$

This last result has already been obtained for the unweighted r -generalized Fibonacci numbers (see, e.g., [2] and [3]).

4. THE CASE OF NONNEGATIVE a_i 's

In this section we assume the a_i 's are nonnegative real numbers and $a_r > 0$. The following lemma is well known for the unweighted case (see, e.g., [9, §12] or [2, Lemma 2]) and is given without proof.

Lemma 8: There exists a unique real strictly positive characteristic root λ for (1). Moreover, λ is a simple characteristic root and all other characteristic roots of (1) have moduli $\leq \lambda$. \square

Theorem 9: Let a_1, \dots, a_r be nonnegative real numbers with $a_r > 0$, and let λ be the unique positive real number of Lemma 8. Then the following are equivalent:

- (a) (1) is asymptotically simple with dominant root λ and dominant multiplicity 1;
- (b) the greatest common divisor $\text{GCD}\{i | a_i > 0\} = 1$.

Proof: (a) \Rightarrow (b). Suppose $\text{GCD}\{i | a_i > 0\} = d > 1$, then $p(x)$ is a polynomial in $y = x^d$, which has a unique greatest root $\lambda_d > 0$ from Lemma 8. Hence, the d^{th} roots of λ_d are all roots of

$p(x)$ with the same modulus as $\lambda_d^{1/d}$, which contradicts (a). For $(b) \Rightarrow (a)$, see Ostrowski [9, Th. 12.2]. \square

Example 10: For the unweighted case ($\alpha_i = 1$ for all i), Lemma 8 implies (1) is asymptotically simple with dominant root λ and multiplicity 1, and we get:

$$(a) \quad L_0 = \left[1 + \sum_{j=1}^{r-1} \frac{j}{\lambda^{1+j}} \right]^{-1};$$

$$(b) \quad \frac{L_A}{L_B} = \frac{\alpha_0 + \sum_{i=1}^{r-1} \alpha_{-i} \lambda^i \sum_{j=i}^{r-1} \frac{1}{\lambda^{1+j}}}{\beta_0 + \sum_{i=1}^{r-1} \beta_{-i} \lambda^i \sum_{j=i}^{r-1} \frac{1}{\lambda^{1+j}}}.$$

Dence [1] obtained similar results in terms of all roots of $p(x)$. Here we obtain the result in terms of only the largest root λ . \square

5. THE GENERAL CASE

For arbitrary complex number α_i 's, we do not have a result similar to Theorem 9. In Theorem 9, the nonnegativity of the α_i 's is important. The next result and example illustrate this fact.

Theorem 11: Assume (1) asymptotically simple with dominant root λ and dominant multiplicity ν , then $\text{GCD}\{i | \alpha_i \neq 0\} = 1$.

Proof: Similar to $(a) \Rightarrow (b)$ of Theorem 9. \square

Unfortunately, the condition $\text{GCD}\{i | \alpha_i \neq 0\} = 1$ is not a sufficient condition for the general case.

Example 12: Let $p(x) = (x-1)(x-i) = x^2 - (1+i)x + i$, where $i = \sqrt{-1}$. Then $\alpha_1 = 1+i$, $\alpha_2 = -i$, and $\text{GCD}\{i | \alpha_i \neq 0\} = 1$. But the characteristic roots 1 and i have the same modulus and multiplicity, hence (1) is not asymptotically simple. \square

The general problem is to find criteria which are equivalent to or imply that (1) is asymptotically simple. In the sequel, we consider one such criterion which could certainly be weakened.

Let λ be *a priori* any characteristic root of $p(x)$, and set

$$b_i = \sum_{j=i}^{r-1} \frac{a_{1+j}}{\lambda^{1+j}}, \quad i = 0, 1, 2, \dots$$

Then $b_0 = 1$ and $b_i = 0$ for $i \geq r$. Consider $\alpha_{-i} = \lambda^{-i}$ for $i = 0, \dots, r-1$. Then, from (6),

$$\lambda^n = y_0(n) + \sum_{i=1}^{r-1} \lambda^{-i} \sum_{j=1}^{r-i} a_{i+j} y_0(n-j), \quad n \geq 0,$$

and

$$1 = \frac{y_0(n)}{\lambda^n} + \sum_{j=1}^{r-1} b_j \frac{y_0(n-j)}{\lambda^{n-j}}. \tag{9}$$

Let $z(n) = \frac{y_0(n)}{\lambda^n} - \frac{y_0(n-1)}{\lambda^{n-1}}$. We have $z(0) = 1$, and from (9),

$$z(n) = -\sum_{j=1}^{r-1} b_j z(n-j), \quad n = 1, 2, 3, \dots \tag{10}$$

It follows that

$$\sum_{j=0}^n b_j z(n-j) = \begin{cases} 1, & \text{for } n = 0, \\ 0, & \text{for } n = 1, 2, 3, \dots \end{cases}$$

We can now prove the following convergence result for the sequence $\{z(n)\}_{n=0}^{+\infty}$.

Lemma 13: If $\sum_{j=1}^{r-1} |b_j| < 1$, then $\{z(n)\}_{n=0}^{+\infty}$ converges to 0.

Proof: From (10), it follows that

$$|z(n)| \leq \left[\sum_{j=1}^{r-1} |b_j| \right] \max \{|z(n-j)| : j = 1, \dots, r-1\}, \quad \text{for } n \geq 1.$$

From this inequality, the sequence $\{M_n = \max \{|z(j)| : j \geq n\}\}_{n=0}^{+\infty}$ is a decreasing sequence, and $M_n \leq [\sum_{j=1}^{r-1} |b_j|] M_{n-r+1}$ for any $n \geq r-1$. Hence $\{M_n\}_{n=0}^{+\infty}$ converges to 0 and the result follows since $|z(n)| \leq M_n$. \square

From the definition, we have

$$\frac{y_0(n)}{\lambda^n} = \sum_{j=0}^n z(j) \quad \text{and} \quad \sum_{j=0}^n b_j = \sum_{j=0}^{r-1} b_j, \quad \text{for } n \geq r-1.$$

Let us consider the following product for $n \geq r-1$:

$$\begin{aligned} \frac{y_0(n)}{\lambda^n} \sum_{j=0}^{r-1} b_j &= \left(\sum_{j=0}^n z(j) \right) \left(\sum_{j=0}^{r-1} b_j \right) \\ &= \sum_{j=0}^n \sum_{k=0}^j b_k z(j-k) + \sum_{j=1}^{r-1} b_k \sum_{k=n-j+1}^n z(k) = 1 + \sum_{j=1}^{r-1} b_j \sum_{k=0}^{j-1} z(n-k). \end{aligned} \tag{11}$$

Taking the limit in (11), we get

$$\lim_{n \rightarrow +\infty} \frac{y_0(n)}{\lambda^n} = \left[\sum_{j=0}^{r-1} b_j \right]^{-1},$$

and we have proved the following result.

Theorem 14: Let λ be a characteristic root of $p(x)$ and set

$$b_i = \sum_{j=i}^{r-1} \frac{a_{1+j}}{\lambda^{1+j}}, \quad \text{for } i = 0, 1, \dots, r-1.$$

If

$$\sum_{j=1}^{r-1} |b_j| < 1, \tag{12}$$

then (1) is asymptotically simple with dominant root λ and dominant multiplicity 1. \square

The next result illustrates that the condition (12) is satisfied in many cases.

Theorem 15: For any fixed sequence $\{a_i\}_{i=2}^r$ ($r \geq 2, a_r \neq 0$) of complex numbers, there exists a positive real number R such that, for any a_1 with $|a_1| > R$, the sequence of a_i 's satisfies the condition of Theorem 14 for a root λ of the characteristic polynomial $p(x)$.

Proof: Using Lemma 8, let R_1 be the unique positive root of the equation

$$x^r = |a_2|x^{r-2} + 2|a_3|x^{r-3} + \dots + (r-1)|a_r|.$$

Let us note that we have

$$|a_2| + 2|a_3|R_1^{-1} + 3|a_4|R_1^{-2} + \dots + (r-1)|a_r|R_1^{-r+2} = R_1^2.$$

Set $R = rR_1$. Suppose $|a_1| > R$ and let λ be any root of maximum modulus of $p(x)$. Since the sum of all the roots of $p(x)$ (with multiplicity) is equal to a_1 , we see that λ must have a modulus greater than or equal to $|a_1|/r$. Thus, we have $|\lambda| > R_1$. Then

$$\begin{aligned} \sum_{i=1}^{r-1} |b_i| &\leq \sum_{j=2}^r (j-1)|a_j||\lambda|^{-j} \\ &< |\lambda|^{-2} \sum_{j=2}^r (j-1)|a_j||\lambda|^{-j+2} \\ &= |\lambda|^{-2} R_1^2 < 1. \end{aligned}$$

Thus, the condition of Theorem 14 is satisfied. \square

Remark 16: The last result is intuitively clear. It indicates that, if we increase $|a_1|$, eventually there will be only one root of maximum modulus. But increasing $|a_1|$ means that $p(x)$ behaves like $q(x) = x^r - a_1r^{r-1} = x^{r-1}(x - a_1)$. Moreover, increasing $|a_1|$ implies the modulus of the largest characteristic root increases also, and since the expression $\sum_{j=1}^{r-1} |b_j|$ does not contain a_1 , it will eventually be less than 1 because each term contains negative powers of $|\lambda|$. \square

Example 17: As an explicit example, consider the case $r = 3, a_1 = a, a_2 = i$, and $a_3 = -ai$, where $i = \sqrt{-1}$ and a is a complex number with $|a| > 1$. In this case, $|a| > 1$ is one of the characteristic roots of the polynomial $p(x) = (x - a)(x^2 - i)$, and we can check that $\sum_{j=1}^{r-1} |b_j| = 1/|a|^2$, which implies that the condition in Theorem 14 is satisfied. Hence, $\lim_{n \rightarrow +\infty} [y_0(n)]/a^n$ exists and is equal to $a^2(a^2 + i)/(a^4 + 1)$. Note that when $|a| \leq 1$ the condition in Theorem 14 is not satisfied and the limit does not exist. \square

Remark 18: For the nonnegative a_i 's, condition (12) is useless because it implies $a_1 > 0$. Indeed, we have, for λ as given by Lemma 8,

$$\sum_{j=1}^{r-1} b_j = \sum_{i=1}^{r-1} \frac{ia_{i+1}}{\lambda^{i+1}} = \sum_{i=1}^{r-1} \frac{(i-1)a_{i+1}}{\lambda^{i+1}} + 1 - \frac{a_1}{\lambda}$$

and if $a_1 = 0$ then $\sum_{j=1}^{r-1} b_j \geq 1$. \square

ACKNOWLEDGMENTS

We would like to thank the referee for suggestions that improved the presentation of this paper. The work of F. Dubeau has been supported in part by grants from NSERC (Canada) and FCAR (Québec, Canada). W. Motta and O. Saeki have been supported in part by CNPq, Brazil. O. Saeki has also been supported in part by a grant from the Ministry of Education (Japan). The work of M. Rachidi has been done in part while he was a visiting professor at UFMS, Brazil.

REFERENCES

1. T. P. Dence. "Ratios of Generalized Fibonacci Sequences." *The Fibonacci Quarterly* **25.2** (1987):137-43.
2. F. Dubeau. "On r -Generalized Fibonacci Sequences." *The Fibonacci Quarterly* **27.3** (1989): 221-29.
3. I. Flores. "Direct Calculation of k -Generalized Fibonacci Numbers." *The Fibonacci Quarterly* **5.4** (1967):259-66.
4. J. A. Jeske. "Linear Recurrence Relations, Part I." *The Fibonacci Quarterly* **1.1** (1963):69-74.
5. D. Kalman. "Generalized Fibonacci Numbers by matrix Methods." *The Fibonacci Quarterly* **20.1** (1982):73-76.
6. D. Kalman. "The Generalized Vandermonde Matrix." *Math. Mag.* **57** (1984):15-21.
7. W. G. Kelly & A. C. Peterson. *Difference Equations: An Introduction with Applications*. San Diego: Academic Press, 1991.
8. E. P. Miles. "Generalized Fibonacci Numbers and Associated Matrices." *American Math. Monthly* **67** (1960):745-52.
9. A. M. Ostrowski. *Solution of Equations in Euclidean and Banach Spaces*. New York: Academic Press, 1973.

AMS Classification Numbers: 40A05, 40A25



Author and Title Index

The AUTHOR, TITLE, KEY-WORD, ELEMENTARY PROBLEMS, and ADVANCED PROBLEMS indices for the first 30 volumes of *The Fibonacci Quarterly* have been completed by Dr. Charles K. Cook. Publication of the completed indices is on a 3.5-inch, high density disk. The price for a copyrighted version of the disk will be \$40.00 plus postage for non-subscribers, while subscribers to *The Fibonacci Quarterly* need only pay \$20.00 plus postage. For additional information, or to order a disk copy of the indices, write to:

PROFESSOR CHARLES K. COOK
DEPARTMENT OF MATHEMATICS
UNIVERSITY OF SOUTH CAROLINA AT SUMTER
1 LOUISE CIRCLE
SUMTER, SC 29150

The indices have been compiled using WORDPERFECT. Should you wish to order a copy of the indices for another wordprocessor or for a non-compatible IBM machine, please explain your situation to Dr. Cook when you place your order and he will try to accommodate you. **DO NOT SEND PAYMENT WITH YOUR ORDER.** You will be billed for the indices and postage by Dr. Cook when he sends you the disk. A star is used in the indices to indicate unsolved problems. Furthermore, Dr. Cook is working on a SUBJECT index and will also be classifying all articles by use of the AMS Classification Scheme. Those who purchase the indices will be given one free update of all indices when the SUBJECT index and the AMS Classification of all articles published in *The Fibonacci Quarterly* are completed.